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d{kk & vkBoha 
fo"k; & fgUnh 

le;% 3%00 ?kaVk                    iw.kkZad 60 
Hkkx & v 

iz-1 fuEufyf[kr x|ka”k dks i<+dj uhps fy[ks iz”uksa ds mRrj fy[kksa 
y{; ysdj pyuk thou dh lQyrk dk y{k.k gSA ,d ckj tc euq"; viuk dksbZ y{; fu/kkZfjr 

dj ysxk] rc og mls iwjk djus ds fy, iz;Ru Hkh vo'; djsxk vkSj rc rd iz;Ru djrk jgsxk] tc rd 
og iw.kZ :i esa ;k vkaf'kd :i esa ml y{; rd ugha igq¡p ikrkA y{; fu/kkZj.k euq"; dks ;kstuk cn~/k 
:Ik ls dk;Z djuk fl[kkrk gSA blls euq"; ǹ<+ fu'p;h vkSj ifjJeh curk gSA blds vHkko esa O;fDr 
Fkkyh ds cSaxu ds leku yq<drk jgrk gSA ftl ;k=h dk dksbZ xUrO; LFkku fuf'pr ughs gksxk] og jsyxkM+h 
esa cSBdj O;FkZ gh b/kj ls m/kj vkSj m/kj ls b/kj HkVdrk jgsxkA [ksy ds eSnku esa ;fn f[kykfM+;ksa ds 
lkeus ^xksy* ugh gksxk rks os nkSM+rs Hkkxrs Fkddj pwj gks tk,xs] fdarq [ksy dk dksbZ Hkh ifj.kke Hkh ugha 
fudy ik,xkA y{;ghu thou taxy esa HkVdus ds leku gSA  
1- Thou dh lQyrk dk y{k.k gS&          1 

¼v½ vkjkenk;d thouA  ¼c½ y{;izsfjr thou ¼l½ vlUrks"kiw.kZ thouA ¼n½ lqfo/kktud thou   
2- Y{; fu/kkZj.k euq"; dks fdl izdkj ds dk;Z djus dh lh[k nsrk gS\     1 

¼v½ ;kstukghu ¼c½ O;oLFkkghu ¼l½ xfrghu ¼n½ ;kstukuqdwy   
3- f[kykM+h ds fy, D;k vfrvko';d gS&          1 

¼v½ eSnku  ¼c½ [ksy dk lkeku  ¼l½ os'kHkw"kk  ¼n½ xksy  
4- mi;qZDr xn~;ka'k ds fy, mfpr 'kh"kZd gS &         1 

¼v½ lQyrk  ¼c½ izxfr  ¼l½ y{;iw.kZ thou ¼n½ iz;Ru  
iz-2 fuEufyf[kr x|ka'k dks i<+dj uhps fy[ks iz'uksa ds mRrj fy[kksa 

vfglk vkSj dk;jrk dHkh lkFk ughs pyrhA eSa iwjh rjg 'kL= lfTtr euq"; ds ân; ls dk;j gksus 
dh dYiuk dj ldrk gw¡A gfFk;kj j[kuk dk;jrk ugh arks Mj dk gksuk rks izdV djrk gh gS ijUrq lPph 
vfgalk 'kqn~/k fuHkZ;rk ds fcuk vlaHko gSA  

D;k eq>esa cgknqjksa dh og vfgalk gS\ dsoy esjh èR;q gh bls crk,xhA vxj dksbZ esjh gR;k djs 
vkSj eSa eq¡g ls gR;kjs ds fy, izkFkZuk djrs gq, rFkk bZ'oj dk uke tirs gq, vkSj ân; eafnj esa mldh 
thrh&tkxrh mifLFkfr dk Hkku j[krs gq, e:¡ rks gh dgk tk,xk fd eq>esa cgknqjksa dh vfgalk FkhA esjh 
lkjh 'kfDr;ksa ds {kh.k gks tkus ls viax cudj eSa ,d gkjs gq, vkneh ds :Ik esa ugha ejuk pkgrkA fdlh 
gR;kjs dh xksyh Hkys gh esjs thou dk var dj nsA eSa mldk Lokxr d:¡xk ysfdu lcls T;knk rks eSa 
vafre 'ok¡l rd viuk drZO; ikyu djrs gq, gh ejuk ilan d:¡xkA  
1- xn~;ka'k esa ^eSa* fdlds fy, iz;qDr gqvk \        1 

¼v½ bafnjk xka/kh   ¼c½ egkRek xka/kh ¼l½ jktho xka/kh  ¼n½ usg: th   
 2- egkRek xka/kh lPph vfgalk ds fy, fdl xq.k dk gksuk vko';d ekurs Fks\    1 
   ¼v½ /kS;Zrk    ¼c½ Øwjrk   ¼l½ lTturk  ¼n½ fuHkhZdrk   

3- 'kL= lfTtr dk lekl foxzg gksxk&           1 
    ¼v½ 'kL= ls lfTtr ¼c½ 'kL= ds fy, lfTtr ¼l½ 'kL= ij lfTtr ¼n½ 'kL= dk lfTtr    



4- xn~;ka'k dk mfpr 'kh"kZd gksxk&          1 
  ¼v½ vfgald xka/kh   ¼c½ lR;oknh xka/kh   ¼l½ cgknqj xka/kh  ¼n½ fuHkhZd xka/kh    

iz-3 fuEufyf[kr i|ka'k dks i<+dj uhps fy[ks iz'uksa ds mRrj fy[kksa 
;g cqjk gS ;k fd vPNk] O;FkZ fnu bl ij fcrkuk] 
tc vlaHko NksM+ ;g iFk nwljs ij ix c<+kuk] 
rw bls vPNk le>] ;k=k ljy blls cusxh] 
lksp er dsoy rq>s gh ;g iM+k eu esa fcBk¡uk] 
gj lQy iaFkh ;gh fo'okl ys bl ij c<+k gSA 
rw blh ij vkt vius fpÙk dk vo/kku dj ys] 
iwoZ pyus ds cVksgh ckr dh igpku dj ysA 
dkSu dgrk gS fd LoIuksa dks u vkus ns ân; esa] 
ns[krs lc gS bUgsa viuh mej] vius le; esa] 
vkSj rw dj ;Ru Hkh rks fey ugha ldrh lQyrk] 
;s mn; gks fy, dqN /;s; u;uksa ds fuy; esa] 
fdarq tx ds iaFk ij ;fn LoIu nks rks lR; nks lkS] 
LoIu ij gh eqX/k er gks] lR; dk Hkh Kku dj ysA 
iwoZ pyus ds cVksgh ckr dh igpku dj ysA 
1- gj lQy O;fDr fdl /;s; dks viukdj lQy gqvk gS\      1 
 ¼v½ ǹ<+ fu'p;  ¼c½ fujarj ifjJe ¼l½ vk'kkokfnrk ¼n½ fo'okl  
2- dfo fdldh igpku djus dks dg jgk gS\        1 

¼v½ ?kkV   ¼c½ ckV  ¼l½ iwoZ  ¼n½ cVksgh   
3- lc ,d fu'pr mej rd D;k ns[krs gS\         1 
 ¼v½ ckV   ¼c½ cVksgh    ¼l½ LoIu  ¼n½ lR;    
4- dfo us lR; fdrus crk, gS\            1 
 ¼v½ lkS   ¼c½ nks lkS  ¼l½ nks  ¼n½ nl  

Hkkx&c 
iz-4 fuEu ls fdlh ,d fo"k; ij 200 'kCnksa esa fuca/k fyf[k,&       5 

1- lekpkj i=ksa dk egRo  izLrkouk] lekpkj i=ksa dk fodkl] lekpkj i=ksa dk izdkj rFkk lekpkj 
i=ksa dk nkf;RoA  

2- i;kZoj.k cpkvks vfHk;ku  izLrkouk] i;kZoj.k iznw"k.k ds izdkj] i;kZoj.k iznw"k.k & ftEesnkj dkSu] 
i;kZij.k iznw"k.k jksdus ds mik;A  

3- esjh ioZrh; ;k=k   izLrkouk] izdqfr n'kZu gsrq izLFkku] je.khd ǹ';ksa dk vkuan] thou esa i;ZVu dh 
vko';drk] milagkj A  

iz-5 vkids tUe fnu ij vkids cM+s HkkbZ us vkidks dykbZ ?kM+h migkj Lo:i HksthA ?kM+h dh mi;ksfxrk 
fon~;kFkhZ thou ds fy, fdruh egRoiw.kZ gS dk o.kZu djrs gq, cMs+ HkkbZ dks /kU;okn i= fyf[k,A  

vFkok 
ty ds egRo ij izdk'k Mkyrs gq, fdlh izzfrf"Br nSfud lekpkj i= esa tu tkx̀fr gsrq i= fyf[k,A 5 

Hkkx&l 
iz-6 'kCnkFkZ fy[kks&             3 
 viZ.k  vk'oklu Qfj'rk  olq/kk  vkReh;rk mn~?kks"k    .



iz-7 fuEu iz'uks ds mÙkj fy[kks&           7 
1- nhfidk LDoS'k ds [ksy ds lkFk fdl izdkj tqM+h\ 
2- dohanz johanz dkSu Fks\ mUgksaus D;k dgk gS\ 
3- l̀f"V ds lqanjre jgL;ksa dks tkuus ds fy, dfo us dkSulk ekxZ lq>k;k gS\ 
4- vczkge fyadu dh lQyrk dk lcls cM+k jkt D;k Fkk\ 
5- ?kks"k ckcw dk 'ksj ls lk{kkRdkj fdu ifjfLFkfr;ksa esa gqvk\ 
6- ,d jkr cw<+s us len dks uhan ls tkxdj D;k dgk\ 
7- ehuk{kh vius ekrk&firk ls utjs D;ksa ugha feyk jgh Fkh\ 

iz-8 fuEu iz'uksa ds mÙkj la{ksi esa fy[kks&          4 
1- nhfidk dks vtqZu iqjLdkj dc feyk\ 
2- y?kq lfjrk dk cgrk ty dSlk Fkk\ 
3- thou dk egkiaFk* dk D;k vFkZ gS\ 
4- dkfynkl dh dkSulh jpuk vn~forh; gS\ 

Hkkx &n 

iz-9 fdUgh nks 'kCnksa ds rRle 'kCn fyf[k,&         1 
 tksx  iaNh  vk¡lw  dqEgkj  
iz-10 fdUgh nks 'kCnksa ds nks&nks i;kZ;okph 'kCn fy[kks&         1 

dksf'k'k  lcd  ihM+k  'ksj     
iz-11 fdUgh nks 'kCnksa ds vusdkFkhZ 'kCn fy[kks&         1 
 xq:  gfj  vad  vFkZ 
iz-12 fdUgh nks 'kCnksa ds foykse 'kCn fy[kks&         1 
 n;kyq  xjhc  vèr  fueZy 
iz-13 fuEu fyf[kr vusd 'kCnksa ds fy, ,d 'kCn fy[kks&        1 

1- /kuqfoZn~;k dks tkuus okykA   2- jkLrk fn[kkus okykA 
iz-14 fdUgh nks 'kCnksa ds Jqfrle fHkUukFkZd :i fyf[k,&        2 

phj&fpj  dj.k&d.kZ  ijns'k&izns'k 
iz-15 rk] oku izR;; yxkdj nks&nks u, 'kCn cukvks&        2 
iz-16 fu] izfr milxZ yxkdj nks&nks u, 'kCn cukvks&        2 
iz-17 fdUgh rhu lekl inksa dk foxzg dj lekl dk izdkj fyf[k,&      3 
 uoxzg  deyu;u  /keZ&v/keZ  gkFkksa&gkFk  ekr&̀HkfDr 

ekSf[kd              10 
****** 
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Class – VIII 
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Time : 3 : 00 Hrs.            M.M.60 
Part – A Reading Skills – 12 Marks    Part – B Writing Skills –    15 Marks 
Part – C Grammar –         10 Marks    Part – D Literature –         13 Marks 

Section - A 
A.1 Read the passage and Answer the Questions by choosing the right option :      

Measles is best known for causing rashes in childhood, but measles can affect other parts of the 

body and some times occurs in adults. Vaccination has significantly reduced the number of cases in the 

United States, although isolated outbreaks continue to occur. 

There are two types of measles, each caused by a different virus. Although both produce rashes and 

fever, they are really different diseases. The rubeola virus causes red measles also known as hard measles 

or just ‘measles’. Although most people recover without problems, rubeola can lead to Pneumonia or 

inflammation of the brain. The rubella virus causes ‘German measles’ also known as three day measles. 

This is usually a milder disease than red measles.  

Both the rubeola and rubella viruses are spread through the respiratory route. This means they are 

contagious through coughing and sneezing. Infact rubeola virus is one of the most contagious viruses 

known to man.             

(i) What has reduced the chance of measles World Wide?     1 

(a) Good food  (b) Good sanitation  (c) vaccination       (d) Good living conditions 

(ii) Measles is caused by which micro-organism?      1 

(a) Bacteria  (b) Virus  (c) Fungi        (d) Protozoa 

(iii) ‘German Measles’ is caused by –        1 

(a) Rubeola  (b) Rubella  (c) Picornaviridae   (d) Enterovirus 

(iv) Write the synonyms of following words from passage :-           1 

(a) Infections   (b) minimize 

A.2 Read the following passage and Answer the Questions by choosing right option :-     

Jack and the old man were riding side by side, on the horses. “My name is Matthew. People call me 

old Matthew”. He handed Jack two coins ‘I have need of a helper, if your are available to work. I can pay 

you ten Pennies per day. I am compiling an encyclopedia of all knowledge. Today, I have added two items 

of knowledge to my encyclopedia. You can lead a horse to water, but you cannot make it drink. Although I 

suspect we could make it drink by depriving it of water for a few hours; we must test that theory. And the 

other thing is that you can change horses in the middle of a stream. 

(i) Who were riding side by side –        1 

(a) Jack and the old man   (b) Young man and Jack  

(c) Old man and young man  (d) Old man and lady 



(ii) He handed Jack--------.         1 
(a) Five Rupees (b) Ten Rupees (c) Two Coins  (d) Four Coins 

(iii) How much Pennies Matthew ready to pay to his helper?     1 
(a) Ten Pennies (b) Five Pennies (c) Eighty eight Pennies (d) Fifty Pennies  

(iv) Write antonyms of following words from the passage –     1 
(a) Faith  (b) allowing  

A.3 Read the Poem and Answer the Questions given below :       
  Breathes there the man with soul so dead, 
  Who never to himself hath said. 
  “This is my own, my native land!” 
  Whose heart hath ne’er within him burned  
  As home his footsteps he hath turned. 
  From wandering on a foreign strand? 
  If such there breathe, go, mark him well, 
  For him no minstrel raptures swell, 
  High though his titles, proud his name, 
  Boundless his wealth as wish can claim; 
  Despite those titles, power and Pelf. 
  The wretch, concentrated all in self. 
  Living, shall forfeit fair renown, 
  And doubly dying shall go down 
  To the vile dust from whence he sprung,  
   Unwept, unhonoured and unsung.  

(i) What is the Poet’s main idea in this Poem?       1 
(ii) What does the Poet mean that such people will be doubly dying?    1 
(iii) Explain the line “The wretch, concentrated all inself.     1 
(iv) Write Two Rhyming Pairs.         1 

Section - B 
B.4 As the President of the community outreach society invite students to contribute generously for helping the 

earthquake victims. Write a notice in not more than 100 words. Sign yourself as Jigyasa / Jigar of spring 
Dales School.  

 Venue : School auditorium  
 Date : February 9, 2015 to 14, 2015 
 Time : 10 am. to 2 pm. 

OR 
 The following is a telephonic conversation between Suman and Divyansh. As Divyansh has to leave for his 

mathematics class, he leaves a message for his sister. Write the message in about 100 words.  5 
 Suman  : Hello, Can I speak to Aarti? 

 Divyansh : I’m afraid Aarti is not at home. May I know who is speaking? 

 Suman  : I am Suman. Please tell your sister that I will pick her up at 5:30pm. Today for the  

movie. Ask her to call Nidhi and enquire whether she is joining us.  

 Divyansh : Ok, I will tell her.  



B.5 You are Era / Eshan. Your friend Priya / Prashant is having a tough time completing the history project on 
‘Medieval Indian History? Write a letter giving her/him strength to take up the project with full zeal and 
enthusiasm. 

 * You good at history projects 
 * Have keen interest in history and events 
 * Internet has made thing easy find information and pictures on it. 
 * Don’t be stressed. 

OR 
Last weekend you went for camping with your family to Rishikesh. Write an email to your friend 
describing the experience in 120-150 words using the hints.       5 
 Every year, we go for camping. 
 Crisp earth, beautiful river. 
 Set up campsites and cooked food  
 Bright sky and millions of twinkling stars. 

B.6 You are Surabhi / Saurabh. You have been asked to give a speech in the school morning assembly on 
‘Growing violence in children’ you can make use of hints. 

 *  Children violently fight enacting some violent cartoon. 
 *  Television and movies to be blamed. 
 *  Kids try and imitate the violent sequences. 
 *  It needs to be checked. 
 *  Violent cartoons to be banned. 

OR 
Once a Prince was attacked and defeated. This incident left a deep impact on the Prince. He became 
disheartened and hid himself in a cave. It was working so precisely and meticulously that the Prince get 
inspired -------- . Complete the story in about 80-100 words.      5 

Section - C 
C.7 Change the voice of the following sentences.        ½×4=2  
 (i)  She was preparing coffee. 
 (ii) I will have done my homework before 7O’clock. 
 (iii) Help the poor. 
 (iv) Who taught you English? 
C.8 Change into Indirect Speech:-          ½×4=2 

(i) Bhoomi said to the Principal, “Ma’am, may I go home”. 
 (ii) Sita said to Sneha, “Are you going to school”. 
 (iii) John said to him, “You have not done your work”. 
 (iv) He said to me, “How old are you”? 
C.9 Do as directed :            ½×4=2 
 (i) for human use / acute problem of getting / there is an / fresh and pure water  

(make a meaningful sentence) 
 (ii) are very poor / the sanitary / in India / conditions (make meaningful sentence) 
 (iii) The boy is singing. He is my brother. (use Adjective clause) 
 (iv) We watch the Koels. They raised their young ones in our Mango tree. (Use Adverb clause) 
C.10 Fill in the blanks by choosing correct option :-        ½×4=2 

(i) Many countries in the World don’t have enough food __________ serious social and Political 
problems. (because of / as / for) 

(ii) He worked according ______________ teacher’s instructions. (to / of / into) 
(iii) Rohan is so strong that he _____________ lift this box. (can / could / might) 
(iv) There is too _____________ sugar in that drink. (much / any / many) 



C.11 Edit the given passage :-           ¼×8=2 
Barack Hussein Obama, President      (a) ----------------  
the United states was born on August 4, 1961    (b) ---------------- 
Honolulu Hawaii. Obama’s mother Ann Dunham, grew   (c) ---------------- 
in Wichita Kansa, where her father worked     (d) ---------------- 
oil rigs during the Depression. After      (e) ---------------- 
Japanese attack on Pearl Harbour, Dunham’s father Stanley, extisted in the service (f) ----------------  
marched across Europe       (g) ---------------- 
Patton’s army. Dunham’s mother, Madelyn, went    (h) ----------------  
work on a bomber assembly line.  

Section - D 
D.12 Write meanings of following words (Any Eight) :-        ¼×8=2 

 (i) Able to salvage (ii) tumult (iii) foretell  (iv) clamoured    (v) suffused with             

(vi) sagged            (vii) entranced (viii) treatise  (ix) Precariously (x) Bleak and dejected  

D.13 Answer the following Questions (Any Seven) :-        1×7=7 

 (i) Why did the court Jester hand over the money to Matthew? 

 (ii) What did Jack mean by climb every unclimbable ladder? 

 (iii) Describe in your words how the poet convinced the doves to eat from her window ledge. 

 (iv) What were the problems of the villagers? 

 (v) Why was dreading a drought a thing of the past? 

 (vi) Why did the porter’s nose start bleeding? 

 (vii) How did Nehru fall? What saved his life? 

 (viii) Why was the trek across the ice field more difficult than the earlier climb? 

 (ix) What caused Matthew to add “the greater the sneeze, the greater the distance as a law of nature? 

D.14 Nehru and the others had to leave their expedition half way. Why? List all the reasons you think are 

probable.             2 

OR 

 Do you think proverbs actually express truths and give warnings? Have you ever experienced the 

truthfulness of these sayings? Write two proverbs.  

D.15 Who spoke the following statements :         ½×4=2 

(i) “Sir, I thought of some inspirational advice would you want to include some of that in your 

encyclopedia.” 

 (ii) If we drill here, of this I am sure : we will find water, both sweet and pure”.  

 (iii) “Shaab, the famous caves of Amranath are just beyond that snow covered peak”. 

 (iv) We have already climbed this far and now there is just that half mile of the field left to cover. 
  ORAL                   10 

***** 
 



(ii) Using the method of long division, find the quotient : 

   3 26 18 2x x x x     . 

OR 

 Taps ‘A’ and ‘B’ can fill an empty tank in 3 hours and 5 

hours respectively. Tap ‘C’ can empty the full tank in 

17
2

hours. If all three taps are open at the same time. 

 In how many hours will the tank be full. 

ORAL              10 
 

***** 
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Summative Assessment (S.A. 1) 2015-2016 

Class – VIII 
Subject – Mathematics  

Time : 3:00 Hrs.      M.M.60 
Section - A 

Q.1 Choose the correct Answer :-      5×1=5 
 (i) Which is the multiplicative inverse of 63 . 

  (a) 6

1
3

  (b) 63      (c) 6

1
3   (d) None of these  

(ii) Find the square of 35. 
 (a) 70  (b) 350     (c) 1225 (d) 305 
(iii) Which is the cube of 10 : 

(a) –1000 (b) 1000   (c)100 (d) 10 
(iv) Which is the value of 8 23 3 : 
 (a) 103   (b) 103      (c) 63  (d) 113  
(v) Which is the square root of 196 :  
 (a) 16   (b) 14      (c) 19    (d) 1960 

Q.2 Fill in the blanks :-           5×1=5 

 (i) ----------- has no reciprocal. 
 (ii) The sum of two rational number always a ------- number. 
 (iii) 24a bc --------- =0 
 (iv) Area of a triangle = --------- . 
 (v) In a trapezium, one pair of opposite sides are ---------- . 

Section – B 

Q.3 Solve the following : (Any Ten)            10×1½=15 

(i) Write ten rational numbers between : 3
7
 and 2

9
. 

(ii) Find the value : 
226

7

   
  
   

. 

(iii) Find a Pythagorean triplet whose greatest number is 17. 

(iv) Find the smallest number by which the number must be 

divided to obtain a perfect cube:  7875 



(v) Evaluate : 2 214 3 2 5x y xy xy   for 1x  and 2y  . 

(vi) Factorize : 2 2144 121x y . 

(vii) If a car covers a distance of 160km in 4 hours, then how 

long will it take to cover 175km at the same speed? 

(viii) A diagonal of a quadrilateral is 50cm. long and the length 

of the perpendiculars on it from the opposite vertices is 

15cm. and 17cm. Find the area of the quadrilateral? 

(ix) Use distributive property to calculate : 2 4 2
3 9 9

   
 

. 

(x) Solve for  x :- 2 7 35 5 5x   . 

(xi) Find the square root by prime factorization. 1156 

(xii) Find the cube root by prime factorigation : 21952 

Section – C 

Q.4 Solve the following (Any Ten) :    10×2=20. 

(i) Subtract the sum of 4 2 3 9a b c   and 3 4b c  from 

the sum of 6 6 12b c   and 4a b c   . 

(ii) Simplify :-      a a b b b c c c a     . 

(iii) Find the product using suitable identify: 

2 2
4 7 4 7
a b a b     

  
. 

(iv) Factorize : 2 216 64p pq q  . 

(v) A canal is dug by 32 men in 15 days. If there are only 12 

men, how long will they take to complete the work? 

(vi) ‘A’ takes 30 days to complete a job. ‘B’ takes 20 days to 

finish the same job. If they work together, how many 

days will they take to finish the job? 

(vii) Find the area of the trapezium whose parallel sides are 45 

cm. and 37 cm and the distance between them is 20cm. 

(viii) Determine the area of the fields (all measurements are in 

cm.) 

 

 

 

 

(ix) Divied after factorizing the first polynomial : 
2 4 12x x  by 2x  . 

(x) Multiply : 2 3 2 4
3 4 3 3

x y x y     
  

. 

(xi) Find the square root of the following up to 2 places of 

decimals : 72.86. 

(xii) What is the least number that should be subtracted from 

the number in order to obtain a perfect square? Alos, find 

the square root of the resulting number : 6750. 

Section – D 

Q.5 Solve the following :      2×2½=5 

 (i) Evaluate : 
11 12 3

5 7

          
     

. 

OR 

For the following values of a, b, and c verify that : 

   a b c a b c        

1 3 8, ,
3 4 9

a b c 
   . 

A C

E

15

D10
8

4

B



Q.7 Answer the following Question in Detail :          3×4=12 
(i) Discuss the various methods that can be employed for the 

control of weeds. 
OR 

Describe the Role of Rhizobium in maintaining soil 
fertility? 

(ii) Define displacement reaction with the help of an 
example? 

OR 
What are the fractions of petroleum? Write any four 
fractions along with their uses. 

OR 
(iii) What is an ideal fuel? What are the factors which should 

be taken into consideration while selecting a fuel? 
OR 

  Discuss the different threats to biodiversity? 
(iv) How is an egg cell different from an egg formed after 

fertilization in some animals? 
OR 

Why do frog produce a large number of gametes? 
Explain the life cycle of a frog? 

Q.8 Draw the Diagram (Any Two) ;            2×2=4 
(i) A human sperm  (ii) Structure of cell  
(iii) A soda acid fire extinguisher 

ORAL                10 
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Q.1  Fill in the blanks :-      ½×6=3 

(i) The kind of crop grown only for profit is called a ------ . 

(ii) A material which is not easily decomposed by natural 

process is termed as ------------- . 

(iii) Natural gas is mainly made up of a gas called --------- . 

(iv) Substances that catch fire easily are called ------- 

substances. 

(v) India is covered with ------------ rainforests. 

(vi) The mode of reproduction that involves only one parent 

is ----------- .    

Q.2 Write the correct Answer :-      ½×6=3 

(i) Plant cells differ from animal cells in having – 

(a) cell membrane  (b) vacuole(c) cell wall(d) Golgi body   

(ii) Which of the following is the most reactive metal  – 

(a) Calcium (b) Hydrogen   (c) Copper   (d) Potassium  

(iii) The process of conversion of sugar into alcohol is known 

as – 



(a) Fermentation   (b) anaerobic respiration     
(b) Baking    (d) Preservation   

(iv) Which of the following is also referred to as black Gold – 
 (a) Petroleum (b) CNG      (c) Coal (d) Diesel   

(v) Which of the following data books contains a record of 

classification of all species into different threat categories  

 (a) Black (b) Red      (c) Gray (d) Violet  

(vi) Which of the following insects show metamorphosis – 

 (a) Cockroach  (b) Honey bee   (c) Butterfly  (d) Ant   

Q.3 Answer in One word :-        ½×6=3 

 (i) Which part of the cell producing energy in the cell? 

 (ii) Name one highly inflammable substance? 

 (iii) Name the material used for making non-sticky coating of  

pans. 

 (iv) Name a non-metal used for vulcanisation of rubber. 

 (v) Name the another term for weedicides. 

 (vi) The heating of milk up to 70C and suddenly cooling is  

called?  

Q.4 Define the following Questions (Any Six) :-         ½×6=3 

 (i)  Reproduction  (ii) Cell (iii) Poaching 

 (iv) Calorific value  (v) Fuel  (vi) Thermoplasto  

(ii) Fermentation  (viii) Irrigation  

Q.5 Answer the following Questions in short  (Any Eight) – 1×8=8 

(i) Why is it important to sow seeds at the correct depth and 

distance? 

  (ii) How do vaccines help in preventing diseases? 

 (iii) State any two advantages of using synthetic fibers. 

 (iv) What is the nature of a non-metal oxide? 

 (v) What are fossil fuels? 

 (vi) Give reason, solar energy is a better fuel than fossil fuels.   

 (vii) Mention a few ways by which paper can be conserved. 

(viii) What is tissue? 

(ix) Where are sperms produced in human beings? 

Q.6 Answer the following Questions (Any Seven) :-         2×7=14 

(i) Differentiate between prokaryotic and eukaryotic cells. 

(ii) What are endemic species? Give an example each of an 

endemic animal. 

(iii) Write the essential conditions for the combustion of a 

fuel to take place. 

(iv) How is petroleum refined? 

(v) What is carboniferous age? 

(vi) What is meant by reactivity series of metals? Give an 

example. 

(vii) Why people prefer wearing cotton clothes over synthetic 

during summers? 

(viii) What is a pathogen? How does it gain entry into the body 
of living organisms? 

(ix) Differentiate between “Kharif” and “Rabi” crops with 
two examples of each. 

  



Q.7 Write answer in detail –         4×2½=10 

(i) Write an account of the one major types of forests in the 

world? 

OR 

Name and explain various factors which affect soil 

formation. 

(ii) What were the main clauses of the subsidiary Alliance 

system? 

OR 

Why did the Revolt of 1857 fail in achieving its 

objective? 

(iii) What is the importance of Right to constitutional 

Remedies? 

OR 

  Discuss the functions of the parliament.  

(iv) Elaborate any five features of the Indian constitution. 

OR 

Give three reasons for the decline of some cities in India 

in the 19th century?  

Q.8 Map:-                 2×2=4 

(i) On an outline map of India, locate four places where the 

Revolt of 1857 took place? 

(ii) Make any two National Parks of India along with their 
names. 

ORAL                 10 
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Q.1 Choose the correct option :-             6×½=3 

(i) Which of the following is a potential fuel resource – 

  (a) Petroleum    (b) natural gas  

(c) biofuel    (d) None of these  

(ii) Fresh water is unevenly distributed across the world due 

to –  

  (a) varying temperature (b) varying rainfall    

(c) varying relief       (d) all of the above   

(iii) Teak is an example of a tree from - 

  (a) Taiga    (b) Tropical deciduous  

 (c) Tropical evergreen  (d) Temperate evergreen 

(iv) In which of the following cities is the National Archives 

of India located – 

 (a) Mumbai (b) New Delhi  (c) Kolkata     (d) Chennai 

 (v) Who was the Nawab of Bengal during the Battle of  

Plassey – 

(a) Alivardi Khan   (b) Shujauddaulah 

(c) Siraj-ud-daulah  (d) None of these 

(vi) Who was the last Mughal Emperor – 

 (a) Bahadur Shah Zafar (b) Shah Alam II 

   (c) Wajid Ali Shah       (d) None of these 

 



Q.2 State whether the following statement are True OR False:6×½=3 

(i) The first telegraph line was inaugurated in 1853. 
(ii) India has no state religion and everyone has the freedom 

to practice his / her own religion. 
(iii) The RTE came into effect in 1947. 
(iv) Public opinion plays an important role in formulating 

laws. 
(v) Deforestation plays a major role in land and soil 

degradation. 
(vi) Tipu Sultan was killed in the Fourth Anglo-Mysore War. 

Q.3 Write Answer in One word :-            6×½=3 
(i) Who wrote the play Neel Darpan? 
(ii) Who brought Bengal directly under the company 

administration? 
(iii) Who led the Revolt at Jhansi? 
(iv) When did the British first occupy Delhi? 
(v) In which year the constitution of India was implemented? 
(vi) In which year the word ‘secular’ was added to the 

Preamble of our constitution? 
Q.4 Fill in the blanks :-              6×½=3 

(i) India has a ------------ form of Govt. 

(ii) A law is introduced in the legislature in the form of a ----

-------- . 

(iii) A --------------- is anything that has a value for humans. 

(iv) --------------- is the electricity produced by water. 

(v) Broadleaf and needle leaf tree are found in ----------- 

forests. 

(vi) The ---------- were the first Europeans to arrive in India. 

 

 

 

PART – B 

Q.5 Write the answer of the following questions in 1-2 line :-  9×1=9 
 (i) What do you understand by urbanization? 

 (ii) What do you mean by mercantilism? 

 (iii) Name any two women leaders of the revolt of 1857. 

(iv) Why do we need a constitution? 

(v) What do you mean by secularism? 

(vi) What is the composition of the Lok Sabha? 

(x) What is a Wild Life Sanctuary? 

(xi) Why is soil considered a resource? 

(xii) What is a potential resource? 

Q.6 Write the answer of the following questions in 3-4 lines  
(Any Ten) :-         10×1½=15 
(i) How do humans affect natural resources? 

(ii) What are the various methods to conserve soil? (explain 
any two) 

(iii) Why is forest conservation important? 

(iv) What are National Park? 

(v) How have historical buildings and paintings proved 

useful as a source of history? 

(vi) What were the results of the second and third Anglo-

Mysore Wars? 

(vii) What were the results of the Revolt of 1857? 

(viii) What do you know about the Cornwallis code? 

(ix) What is the purpose of a constitution? 

(x) List the rights guaranteed by the Right to Freedom. 

(xi) List some of the functions of the President? 

(xii) What does the phrase the ‘rule of law’ mean? 



iz-18 v|ksfyf[kr 'yksdL; lizlax O;k[;ka dq:r&   2 
 loZLo fg ijh{;Urs LoHkkok% usrjs xq.kk%A 
 LoHkkoks fg xq.kku~ lokZu~ vrhR; ewf/uZ orZrsAA 

vFkok 
 ijks{ks dk;ZgUrkja izR;{ks fiz;okfnue~A 
 otZ;sr~ rkǹ'ka fe=a fo"kdqEHka i;kseq[ke~AA 
iz-19 dksbZ rhu /kkrq :ikf.k fy[kr&     1½ 

1- ue~ /kkrq yV̀ ydkj mÙke iq:"k cgqopuA 
2- ik /kkrq fof/kfyM+- ydkj e/;;e iq:"k ,dopuA 
3- Hkw /kkrq yM~- ydkj mÙke iq:"k cgqopuA 
4- Xke~ /kkrq yV̀ ydkj izFke iq:"k ,dopuA 

iz-20 v|ksfyf[kr vuqPNsne~ ifBRok iz'ukuke~ mÙkjkf.k laLd̀rsu fyf[kr&2 
lax.kd&;qxs vfi equs% ikf.kus% v"Vk/;k;h bfr O;kdj.k&'kkL=e~ 
vf}rh;e~ eU;Urs fo}kal%A 'kadjkpk;sZ.k fopfjre~ ^oSfnd&xf.krh;* 
fonq"k% pfdrpfdrku~ djksfrA oSfnd xf.krrL; "kksM'k lw=kf.k 
v|kfi ds"kqfpr fo|ky;s"kq ikB~;Øes ladfyrkfuA HkkLdjkpk;ZL; 
^yhykorh* {ks=s lqizfl)k jpukA 
1- HkkLdjkpk;ZL; xf.kr {ks=s lqizfl)k jpuk dfr lfUr\ 
2- lax.kd% 'kCns lekukFkZde~ 'kCn fy[krA 
3- O;kdj.k 'kkL=s vf}rh;e~ fo)kue~ --------- eU;UrsA 
4- fonq"k% 'kCnL; d% i;kZ;\ 

iz-21 'kqYd eqDr;FkZa gsrq izkFkZuk i=e~ fy[kr%A   5 
vFkok 

 ^laLd`r Hkk"kk;k% egkre~* bfr fo"k;s ,da vuqPNsna fy[kr~A 
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ladfyr ijh{kk ¼izFke½ 2015&16 

d{kk & vkBoha 
fo"k; & laLd`r 

le;% 1%30 ?kaVk         iw.kkZad 60 
iz-1 e×tw"kk;k% mfprsu vLen~ @ ;qXen :is.k okD;kfu iwj;r&6½¾3 
 ¼vge~] e;k] eãe] ef;] eke~] ee½ 

1- ------------------ laLd̀re~ iBkfeA 
2- ijh{kk;ka --------------- vadk% 'kksHkuk%A 
3- v/;kfidk --------------- vonr~A 
4- izhfr% vfi ----------------- lg iBfrA 
5- lk ----------- fo'oflfrA 
6- lk ---------------- dyee~ v;PNr~A 

iz-2 dksbZ pkj 'kCnL; foijhrkFkZd inkfu fy[kr&  4½¾2 
 dygfiz;% xqf.ku%  rqH;e~   
 lR;e~  uohue~  fuR;e~ 
iz-3 izd̀fr izR;; foHkkx dq:r&    6½¾3 
 fuxZUrqe  fogL;  ǹ"Vok 
 iz.kE;  Hkforqe  vkd.;Z 
iz-4 mfpr fodYisu fjDrLFkkukfu iwj;r&   6½¾3 

1- O;lus"kq ---------- /kue~A ¼ekrk] fo|k] ifr½ 
2- ------------------- tya ficsr~A ¼eu%] iwue~] oL=iwue½ 
3- fo|k ----------------- /kue~A ¼fo|ky;s"kq] fons'ks"kq½ 
4- --------------- lekpjsr~A ¼ǹf"Viwre] eu%iwre] fgre½ 
5- ------------ pRokfj o/kZursA ¼nqtZuL;] vfHkoknu] 'khyL;½ 
6- nqtZuL; ftg~okxzs --------- fr"Bfr\ ¼gykgye~] e/kq] vlR;e~½ 

iz-5 fuEufyf[kr eatw"kk;ka iznÙkkua i;kZ;okph 'kCnkuka fuEukafdrS% inS% lg 
es;y;& ¼otZ;sr] cgo%] dq:rs] vU;s] O;lus"kq] eqf?uZ½   6½¾3 

 brjs] ladVs"kq] vusds] R;tsr] loksZifj] eLrds] djksfrA 



iz-6 ijLij esyua dq:r&     4½¾2 
 ò{ks olfUr bfr   m".kizns'ks"kq 
 LFkys olfUr bfr   LFky okflu% 
 m".ks"kq izns'ks"kq    'khry&LFkys"kq 
 'khrys"kq LFkys"kq    ò{kokflu% 
iz-7 funsZ'kkuqlkj mÙkjr%     4½¾2 

1- JkUrsH;% ins dk foHkfDr\ 
2- thoua lq[ke;a fda fo'ks"k.k ina\ 
3- leqnzs"kq bfr ins fda foHkfDr opue~\ 
4- orZrs fØ;k inL; d% dÙkkZ\ ¼leqnzs"kq] vn~Hkqra] thoue~½ 

iz-8 laLd̀r 'kCnL; fgUnh 'kCnkFkZ fy[kr&   8¼ ¾2 
HkonfHk%] egkišs-] Hkkx};a] gykgya] f}pfØdk%] izkIuq;q%] us";kHk%] 
vkSRlqD;e~ 

iz-9 fgUnh 'kCnL; laLd̀r HkkokFkZ fy[kr&   8¼ ¾2 
 ik,¡xs]  tkudj]  c<+krs gSaaaaa] rks fxj x;k 
 Fkds ekanksa ds fy,] ysdj  vknkS 
iz-10 ,d insu mÙkjr&     6½¾3 

1- dkS'kya dFka Hkofr\ 
2- thoua jf{krqe ds jf{krO;k%\ 
3- fo|k fde~ nnkfr\ 
4- uj% dLekr~ ik=rke~ xPNfr\ 
5- J̀xky% dhǹ'k% vklhr~\ 
6- vkinke~ ewye~ d% vfLr\ 

iz-11 v|ksfyf[kr Qy] 'kkdkfu o ¼Qwyka½ iq"ik.kka p vuqokn  
dq:r&       21¾2 

 djsyk  cknke  VekVj  dVgy 
 

iz-12 dksbZ rhu iw.kZ okD;su mÙkjr&    31¾3 
1- ò{kk% dheFkZ jf{krO;k%\ 
2- ǹ<+ ladYik% o;a fda dfj";ke%\ 
3- dhǹ'ka fe=a otZ;su~\ 
4- dk;Za dFke~ fl/;fra\ 

iz-13 LoikB~;iqLrdL; ,da 'yksda fy[kr ;r bna iz'ui=a ukfLrA 2 
iz-14 yksHkksewyekinke~ ikBL; lkj fgUnh Hkk"kk;ke~ fy[kr&  1½ 
iz-15 dksbZ pkj lekukFkZdkuka ijLijesyua dq:r&  4½¾2 
 fonq"kke~     vLekde~ 
 HkwekS     ,"kk 
 b;e~     if.Mrkuke~ 
 furjke~     /kjkrys 
 u%     ldy% lalkj% 
 vf[kye~ txr~    vrho 
iz-16 dksbZ nks iz'us"kq mÙkjr&     21¾2 

1- pjd lafgrk dL; xzaFkL; va'k%\ 
2- ukV~;'kkL=e~ dsu jfpre~\ 
3- eq[; iqjk.kk% dfr lfUr\ 
4- HkkjrL; izkphure% egkfo|ky;% d%\ 

iz-17 v|ksfyf[kr x|ka'kL; fgUnh vuqokna dq:r&   2 
v.kZo%  ekr%! v| vLekfHk% laLd̀r iqLrds ifBre~ ^uefUr 
Qafyu% ò{kk% uefUr xqf.kuks tuk%A* 
ekrk%  lR;esrr~! Ok;e~ fou;'khyk% Hkose~A xqf.ktuk% lnk 
fouezk% lfUrA 
v.kZo%  ekr%! vga rqH;a izfrtkukfe lnk fouhr% Hkfo";kfe 
bfrA 



Q.9 Answer in brief (Do Any Four )    1½×4=6 
(i) Differentiate between LAN and WAN. 
(ii) Explain any four features of MS Access. 
(iii) What is use of Primary key? 
(iv) Into how many types a query can be categorized? 
(v) What do you understand by cropping? 
(vi) What is the use of Hue / Saturation dialog box?  
Q.10 Answer in Detail (Do Any Four)   2×4=8 

(i) What is Adobe Photo Shop? Explain the features 
of Adobe Photo Shop. 

(ii) What is a form? Briefly explain its use. 
(iii) How will you add a new row to a table? 
(iv) What are the types of database? Explain each of  

them briefly. 
(v) Explain Client Server network. 
(vi) What is the use of type Tool? How will you 

insert text in a image? 
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Q.1 Fill in the blanks :-     ½×6=3 

[ Database, Report, GIF, Communication, 255, Black 
& White ] 
(i) ---------------- system allows us to talk to any 

person in the world at any time. 
(ii) A ----------- is an organized way of storing 

information. 
(iii) In ‘Text’ data type, we can store a maximum of -

-------- characters. 
(iv) A ---------- is an effective way to organize and 

summarize data in a printed form. 
(v) ------------- are animated images which are 

mostly used in web pages. 
(vi) By default, foreground colour is ---------- and 

back ground colour is --------------- . 
Q.2 Write True OR False :-      ½×6=3 

(i) Network cards are used to physically attach a 
computer. 

(ii) Table, queries, reports and forms can be created 
in MS Access. 

(iii) A number data type can store integer values. 
(iv) Query window divided into three parts. 
(v) The palette well is present on the bottom right 

corner of the photo shop window. 
(vi) Text tool is used to insert images. 



Q.3 Short cut keys define their function (Any Four) ½×4=2 
 (i) Caps lock key (ii) Ctrl+D (iii) Shift+Tab 
 (iv) Ctrl+W  (v) Alt+F5  (vi) Ctrl+S 
Q.4 Match the following :-     ½×6=3 
 (i) To create a smoth  -(a) Wireless Access point 

stroke of the colour     
 (ii) To select an image -(b) Local area network  

used     
(iii) Hyperlink stores up -(c) Relational Database  

        management system 
 (iv) RBDMS stands for -(d) 1GB of data 
 (v) LAN   -(e)Selection tool 
 (vi) WAP   -(f) Brush  
Q.5 Tick the (√) correct Answer :-     ½×4=2 
 (i) There are mainly --------- types of database. 
  (a) Two  (b) Three (c) Four  

(ii) What do you call the area where you can view 
the record numbers you have entered in a table? 
(a) Record Bar   (b) Record Tab  
(b) Record Navigation Bar 

(iii) How many views does Access provide to display 
a form? 
(a) Two (b) Three (c) Four 

(iv) Which bar shows different options of the 
currently selected tool? 
(a) Tool Bar (b) Context Menu (c) Menu Bar 

 
 
 
 

Q.6 Answer the application Based Question :  1×4=4 
(i) Punam wants to focus only one lion in the pride 

and removes the rest. Which tool can meet her 
requirement? 

(ii) Vikram has inserted an image in file. He wants 
to duplicate the image. Suggest the tool which 
fulfill his requirement. 

(iii) Johnson company wants to maintain the privacy 
of each employee and wants to update each 
record, one at time. Which database object 
should they use to perform this task? 

(iv) Mansi wants to quit MS Access after saving 
database by using shortcut key. Which key you 
will suggest her to use? 

Q.7 Answer in One Word ( Any Five )   1×5=5 
(i) Which is the most commonly used network 

card? 
 (ii) Which key is used to move to the next column? 
 (iii) Which query is used to update or change existing  

data in a set of records?     
(iv) In which year the first version of photo shop is 

invented? 
(v) Which key moves the cursor to the previous field 

in Datasheet view? 
(vi) Which view allows more control over the table 

structure? 
Q.8 Define (Do Any Four) :     1×4=4 
 (i) Warping (ii) Losso Tool (iii) Report 
 (iv) Table  (v) Field  (vi) Record 
 


